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Choose the right answer:
(1)
J‘4+ x>

—1,X
a) 2tan (Z) +C b) tan (E) =+

.. _3.% W
o) Etan (—)+c d) 2tan (5)+c

(2) [

9+¢'

1 \.
a) tan” ) +c b) §h1(9+e‘ )+c

-~

¢) h(9+e')+ec d) 9¢' +x+c

j tan®3x dx

1 2 .
2) 3 tan(3x)—x+c b seciG)—lve

-

¢) sec3x)tan(3x)+c d) tan(3x)—3x+c




(4) I% cos’(x)sin( x) dx

cos’(x) b) —3cos’(x)+c
- +c
a) 3

¢) —cos(3x)’ +c d) —cos’(x) +c

0
(5) Isecx tanx dx

..
4

a) 1—\/-2-
) 1+\/§

(6) L; 2x(x* +1)° dx

1001 10000

(a)—— (b) —;




(7) j‘xz In x dx

1 3 > 1_3
i 2 lnx—§A +c b)gx lnx—gx +c

1 I | B .
)—A'3h1x——x‘+c d —xhx-——x*+c
9 ) 3 6

-~

C

3cos (lnx) dx

(8)f x>0

a) 3sm(h1 x)+c b) 3cos(ln x) +c
¢) 3sec(lnx)+c d) 3tan(ln x)+c

(9)Determine the area of the region enclosed by:

y=x*-9  y=3-

@% (b CEEN R




(10) Determine the area of the region enclosed by:

y=2-x%*, y=x* ,0<x<2

()= (b) (c)2 (d) 4

(11) Determine the area of the region enclosed by:

y=x% ,y=2—x,y=0

Yy
A




(12) Determine the area of the region enclosed by:

x =y ,x=2—y"*

(13) Determine the area of the region enclosed by:
y=x% ,y=2x

@~  (b) (€)= (d) 8




(14) find the area of the region under the curve

y = —x% + 4 ,and up the x — axis
32

(a)= (b)= (c)2 (d) =

(15) Determine the area of the region enclosed by:

i
y=x y=x"

1

(a)-

(b)- (c)2 (d)=

3




(16) Determine the area of the region enclosed by:

YV=AX ¢« Y=X

@k (b):

(17)find the volume of a region bounded by

y =+/x ,on [0,4] revolving about x — axis
16w

(a)T (b)l6m (c)2m (d) 87




(18) find the volume of a region bounded by

2

y=4—-x*, y=0 ,revolving about y = —3

4481 7361 14721 29441

@5 B2 (o

(d)

15 15 15

(19) ) find the volume of a region bounded by
y=4—x%, y=0 ,revolving about x = 3
(a)64m (b)128m (c)32n (d) 167




(20) find the volume of a region bounded by

y=x%, y=0,-1<x<1

revolving about x = 2

= b= (O (d) =

(21) find the volume of a region bounded by

y=x, y=—x ,revolving about x =1

lem
3

2T

(a) b= (0F (d) =




(22)the height of the solid formed by revolving region
bounded by
y=x, y=—x,x =1 ,revolving about y — axis

(a)2x (b)x (c)2y (d)1 — x

(23)the radius of the solid formed by revolving
region boundedbyy =x,y = —x

revolving about x = 2
(a)2x (b)x ()2 —y




(24)the volume of the solid formed by revolving
region bounded by y = 4 — x? , and the x — axis

revolving about x = 3

a) [°,2n(3—x)(4—x)ax  b) [, 2m(3 +x)(4—x*)dx

c) f04 21(3 — x)(4 — x?)dx d) f04 2 (3 + x)(4 — x*)dx

(25) The length of thearc f(x) = V1 —x?,-1<x <1

2T

(a) (b} (c)2m (d)5-




3 1
(26) The length of the arc f(x) = %xi —x2 ,1<x<4

20

(@)=

256

(b (o) (d) =

(27) The length of thearcy = x3 , -2 < x <2

2) IVI+9x4 dx b) I\/l+9x2 dx
-2 -2

: h\/1+3x4 dx ~\/1+3x2 dx

c) J d) J




(28) the surface areaof y = x*,0<x < 1
revolving about x — axis is

1 1
2) JZfrx4\/1+4x3 dx b) JZﬂx4\/1+l6x5 dx
0 0

1 1
o I27rx4\/1+16x6 dx d) j27rx4\/1+4x6 dx
0 0

(29) the surface areaof y = vx,1 < x < 2
revolving about x — axis is

2 1 2 4
g .!.272'\/;1/1+4—di b Jl'zfn/I,/H;dx

2 2
, ¥
&) _!27[«/3\ 1+Z dx d) !2”\/,\\/14-4)( dx




(30)Identify the initial conditions y(0) and y/(0) for
the vertical motion of an object ,if the object is
thrown downward at a velocity 6m/s from a height

of 30m.
(a) y(0) = 30,y/(0) =6 (b) ¥(0) = 0,y/(0) =6
(c) y(0) = 0,y/(0) =-6 (d) ¥(0) = 30,y/(0) =-6

(31))A force of 5 Newton stretches a spring 4cm
from its natural length. find the work done in
stretching the spring 6cm beyond its natural

9
(b)ﬁ n.m

(d) 2250 n.m

\

\\




(32) A diver drops from 9m above the water. what is
the diver’s velocity at impact?

(a)—4.33m/s (b)—9.39m/s
(c)—13.33m/s (d)—18.39m/s

(33)find the value of ¢ for which f(x) = cx + x? is
a probability density function on interval|0,1]

(a) (b)> (€)= (d)




Cc

(34) find the value of ¢ for which f(x) = s a

probability density function on interval[0,1

]

(a)4r (b)== () (d)

(35)suppose that the lifetime in years of brand of
lightbulb is exponentially distributed with pdf

f(x) = 4e~** find the probability that given
lightbulb lasts 3 months or less

((a)1-e (b)1-e? (c)1+e (d)e




(36) find the mean of the random variable with the
given pdf f(x) = 3x* on[0,1]

(@)7 (b)1 (©)5 @ 3

(37) find the median of the random variable with
the given pdf f(x) = 3x* on|[0,1]

(@5 bl (©; () V2




(38) j——ji——dx

\/16—,\‘2

5. 4%
3 Ssin (Z)+c
o 5sin () +c
& (16)

(39) [ —— dx

4+44x2

a) 2tan”'(x)+c

1

X
—tan (&) +c
2 (2)

C)

4

(40) [ dx

49+4x2
2

1%
) 7tan (7)+c

S i g0
b) Zsm (Z)+c

J5sin (X)) +c
o V5sin™ ()

|
b) Etan '(x)+c

) tan”' (x ) +c

4
b) 7tan '(x)+c




x+1
X242x+4

(51) f

(a)2In|x? + 2x + 4|+c (b)% In|x? + 2x + 4|+c

(c) %tan‘l(%ﬂ) +c (d) % (x + 1) tan‘l(%) +c




X

(52) | ¢ dx

1—e*
a) 2sin"'e” +c

([
~ —SIn e +c
L) 2

(53) lenxdx

2 " l -2
&y ¥ MA—EA +c

| |
&) X hlx—ZA +c

3 X
—sec (—)+c
5 (3)

b) xhx-x+c

d) %xzhlx—%x2+c

3 . x
— S¢EC —)+C
b) 3 (25)

3 X
~ —Sec (—)+c¢
d) 25 (25)




(55) jdx g

X

) _2COS\/;+C b) —;COS\/;-FC

c) —2sin/x +c¢ d) 2cos/x +¢

T

(56) j‘secz,\’ e™% e

o

a) e

(57) ;[csczx dx

(a)0 (b)-1

5
X

(58) Il+x
a) X tan” (x°) by I(x+1)+c

dx

6

1
+c d) ghl(l+x6)+c

¢) 6 x+x'




(59) J‘m;- dx

a) 2Inx+c

¢) hx’+c

(60) [=—ds

m'(x*)+c
a) sm (x7)

lsin_l(x2)+c
C) 2

(61) [ dx

a)

b)

lsin"(x-°-)+c
4

s +c
d) Esm (x)




(62) Isecx dx

(a)in|secx + tanx| + ¢

(c) _1 +c

sSinx

(63) j tan 2x dx

(a)% cot2x + ¢

Sin2x

(c)

COS2Xx

(64) j sin® x dx

cos’ x

a) —CO0S X+ C

(b) In|secxtanx| + ¢

(d) cscx + ¢

(b)_?lln|COSZX| +c

(d)—cotx + ¢




(64) jxln x dx

b 52 . 1.5
) Ex hl,x—zx +c

T
¢) E.X hl.l+C

(65) jxsin x dx

|
——X - CORX +¢C
2

—XCOSX+Smx+c

b) %lenx—%xz +c

2 1 2
x*hx——x“+c
d) 4

b) Xxsmx+cosx+c

d) —xcosx—smx+c




(66) Icos\/;dx'
a) 2\/;sin\/;—2cos\/;+c b) 2\/;sin\/.\—'+2cos\/;+c

c) 2/x cosy/x —2sinJx +¢ d) —2/xsinVx +cosvx +c

(67) Jedx

a) 2\xe'* —2¢" +c b) 2\xe™ +2e +¢

¢) 2dxet =D 4o

2 =
d)j_;-e +:C

(68) J tan xsec’x dx

1t3-|-

-~

TR
¢) —an x+—tan x+c
4 2




(69) I tan® x sec’x dx

| 5 | 3 | . | 3
2) —tfan " x+—sec x+c¢ b) —SeC xX——Sec ' x+c
o M 3 7

-~ -~

1 6 1 s
X, —tfan x+—tan " x+c¢
) 6 5

(70) Jcosz(x +1) dx

lx+%sin(x+l)+c

| 1 .
—x+—sm2(x+1D+c
a) 2 5 3 ( )

b)

1 | 1 b =
—x+—sm(x+1D+c —x+—sm2(x+1+c
5> th ( ) d) 5 ¥t (x+1)

C)

-

x -1

(71) [2=2 dx

x+1+2m|x—1|+c b Il -1l+c

x+1|—2]n|x—l|+c d) 2h1|x+l|—3ln|x—l|+c




Sx-2
(72) J‘xl’ _4 dx

3)3Mh+ﬂ+2hh—ﬂ+c

¢) 3hh—q—2hh+q+c

6x
(73) J',7(2—.\‘—20’)‘

a)4hh+ﬂ+2hh—ﬂ+c

o) 2hfx—2/+4mfx+1+c

4x -5
(74) [ 5adx

-_m| |-__+71n|l-z|+c b

2 +Zh1[x—3‘+c
9

b) 3MM+4—ZMh—ﬂ+c

anhh+4—3hh—4+c

by 4hfx—2/+2h|x+1|+c

d)4hh—4—2hh+q+c

—ZhM+ZMM—ﬂ+C
9 9

d) lnlx3 —3x2| e




2x+3

d‘.
(75) J‘xz-+-23r+1 !

a)2hh+q—hh—q+c b) MF+H—2hh—H+C

C)

2hh+ﬂ—hh‘+q+c d)zmh+”-

+C
x+1




(76)Determine whether the differential equation is not
separable.

(a)y/=(3x + 1)cosy (b)y/’=(3x + y)cosy
(c)y/=(3y + 1)cosx (d)y/=2xcosy — xy3

(77)Find the general solution for the equation

y/=(x* + Dy

3
(a)ln|y| = x? +x+c




(78) Find the general solution for the equation

(b)in|y| = %lnlx2 + 1| +c

1

(d)y = cet ¥ 4+ ¢




(79)Solve the IVP explicity if possible.

@y=e*x+3)*  (B)y=(x+3)
©y=amx+3  (dy=(+3)"*




(80) suppose a bacterial culture initially has 400 cells.
After 1 hour, the population has increased to 800.

qguickly determine the population after 3 hours

(a)2400 (b)3200 (c)1600 (d)2800

(81) A bowl of porridge at 93°C is placed in a 21°C
room . one minute later the porridge has cooled to
82°C .when will the temperature be 49°C.

(a)4 (b)6 (c)7 (d)10




(82)Suppose that the value of a 400000AED asset
decrease at a constant percentage 40%.find its
worth after 5 years .

(a)327492 (b)54134  (c)268128  (d)240000




